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1 AR O—XTITERTA 40.0 18, 040
2 EEEARIIA 37.0 18,576
3 FSUTYIR 37.0 17,564
4 ERMEATA 33.0 17,585
J BNEHEE A 33.0 117,325
6 ATYREA 32.5 117,312
1 HEATEA 31.0 17,176
8 JEEIERTT A 29.5 17,822
9 aOvYREB 29.5 16, 720
10 b 2 E#HER 29.0 16, 509
11 IRIERH 28.0 17,140
12 EZHETEB 26.5 17,118
13 ERMZFTB 23.0 16, 042
14 JtEIER1TB 21.0 15, 844
15 AtRO—XTXFTB 19.0 15,270 1 1
16 [EWEL 18.0 14, 624
17 EAIEB 17.0 15,615
18 EEEANR)IB 17.0 15,575
19 A T 16.5 14, 280 3 6
20 BINRFB 16.0 14, 493
21 IR A—ILIE 16.0 14,182 3 6
22 ZHETIXRA 13.0 14, 441
23 BINRTA 9.0 14,180 4 8
24 JLEEARIIC 1.0 3,227 12 12
25 BNRZEEB 3.9 8, 589 1 30
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= AN A S AV = Bm ey = OAN &
AAO—XTEMRB ( 928) 1 — 2 ( 988 ) EMMEMIE
LEERITA ( 1,151) 1 — 2 ( 1,152) avYREB
cUTYIR ( 1,229) 3 — 0 ( 1,043) mBIZEA
ERMEAB ( 1,121) 0 — 3 ( 1,267) JEFAHRIIA
AINRHEEA ( 1,060) 3 — 0 0) BL
BIIRTA ( 592 ) 0 — 3 ( 916 ) EANEH
EEEARIIC ( 0) 0 — 3 ( 1,110) *=HEIZXB
HATXEB ( 975) 0 — 3 ( 1,036) RAINEHBEEB
EIRMEAA ( 1,203) 2 — 1 ( 1,076) JtE$R1TB
brE#EEIR ( 1,074) 0 — 3 ( 1,295) AWHAO—XTIXFRTA
ZHETERA ( 1,014) 3 — 0 ( 913) JEEAHRIIB
INRIA—ILIE ( 910) 0 — 3 ( 1,116) IRiERA%K
O YEEA ( 1,137) 3 — 0 983) HIIEB
2oy —X

E AN A& M-aE Y B s bty E AN &
LEERITA ( 1,136) 1T — 2 ( 1,163) #EAIXA
boUTYOR ( 1,167) 2 — 1 ( 1,089) =£RM#*%FB
EEEENRIIA ( 1,284) 3 — 0 ( 1,232) AINEHBEA
LEEEAHRIIC ( 0) 0 — 0 ( 0) BL
SRR TR ( 968 ) 3 = 0 ( 675) HIIERTA
FLEERITB ( 1,098) 0 — 3 ( 1,156) avvEZ#B
AtHRAO—XTEFRB ( 1,047) 0 — 3 ( 1,069) EANE#
EIRMEAA ( 1,157) 3 — 0 984) rFIEWER
EENFRIB ( 1,195) T — 2 ( 1,210) AtHRO—XIZEMA
RIEHS ¢ 1,179) 3 = 0 ( 944 ) EHBEITERA
AIRHEEB ( 996 ) 0 — 3 ( 1,190) avVEZEA
EHETXB ( 1,064) 3 — 0 ( 928) HIIEB
AT %EB ( 1,002) 2 — 1 ( 994) IMROA—ILIE
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E= AN A M-aE Y B i T =S el 1 A = AN &
IRIERH ( 1,261) 3 — 0 ( 1,195) JEFAHRIIA
EEHRIB ( 924 ) 0 — 3 ( 1,111) RAINEHBEA
brE#EIR ( 1,09) 3 — 0 ( 1,049) &RM&EFB
HATIEA ( 1,024) 0 — 3 ( 1,044) JERITB
ZHEITEB ( 1,09) 1T — 2 ( 1,167) aVEEB
LEEEARIIC ( 0) 0 — 3 ( 1,121) #HAIEB
INRA—ILIE ( 1,004) 3 — 0 ( 18) HAINERFFA
AWHRO—XTEHMB ( 1,069) 3 — 0 973) HIIEFB
BN EH ( 969 ) 3 — 0 885) HAINEHEEB
(ST VN 25 3 ( 906) 0 — 3 ( 1,151) £RMEMAA
AMAO—XTEFRFA ( 1,118) 3 — 0 ( 0) BL
ZHETERA ( 1,015) 0 — 3 ( 1,209) dJtEEERITA
boUTYOR ( 1,222) 3 — 0 ( 1,066) avwvFEZEA
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E AN A& M-aE Y B s bty = AN A
AINRHEEA ( 1,088) 2 — 1 ( 1,061) FFrzE@ER
TRMEAB ( 97M) 1 — 2 ( 1,015) JEERITB
WA ITEA ( 1,134) 2 — 1 ( 1,127) ZHEKI%B
HATXEB ( 1,050) 0 — 3 ( 1,128) avv¥Ei#B
EEFENRIIC ( 0) 0 — 3 ( 1,09) /ao+—ILT%
AINERFB ( 1,015) 3 = 0 ( 811) HIIERTA
AIRHEEB ( 934) 0 — 3 ( 1,123) ARO—XIZEMB
B A EH (1,048) 1T = 2 ( 1,011) =RMEMA
AWHAO—XTZEMA ( 1,254) 3 — 0 ( 1,042) EHiBEHW I
ZHETERA ( 968 ) 3 = 0 ( 0) BL
O YREA ( 1,054) 0.5 — 2.5 ( 1,120) JtEEERITA
RIERS ( 1,162) 0 — 3 ( 1,264) +IoTYIR

FEEEARIIA ( 1,150) 3 — 0 ( 1,029) dcpEEAHFRIIB




